
 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 1 - 

 

EC Declaration of Conformity 
EG Konformitätserklärung 

CE Déclaration de conformité 
CE Dichiarazione di conformità 

This declaration of conformity is issued under the sole responsibility of the manufacturer 
Die alleinige Verantwortung für die Ausstellung dieser Konformitätserklärung trägt der hersteller / 
La présente déclaration de conformité est établie sous la seule responsabilité du fabricant /  
La presente dichiarazione di conformità è rilasciata sotto la responsabilità esclusiva del fabbricante 

ABB STRIEBEL & JOHN GmbH 
Am Fuchsgraben 2-3 
77880 Sasbach  Germany 

Object of declaration 
Gegenstand der Erklärung / Objet de la déclaration / Oggetto della dichiarazione 

TriLine-C cabinet system 

The object of the declaration described above is in conformity with the relevant 
Community harmonisation legislation 
Der oben beschriebene Gegenstand der Erklärung erfüllt die einschlägigen / 
Harmonisierungsrechtsvorschriften der Gemeinschaft / 

-dessus est conforme á la législation communautaire 
applicable / 

armonizzazione 

Low Voltage Directive No. 2014/35/EU  
2011/65/EU and Amendment Directive (EU) 2015/863 RoHS III 

and are in conformity with the following harmonized standards or other normative 
documents 
nachgewiesen durch die Einhaltung der nachstehend aufgeführten Normen oder anderen normativen 
Dokumenten / 
et justifié par le respect des Normes mentionnées ci-dessous ou autres documents normatifs / 
e sono stati applicati le norme o altri documenti normativi indicati di seguito 

EN 61439-1:2011 
EN 61439-2:2011 

Year of CE-marking 
Jahr der CE-  affissa la marcatura 

2024 

Signed for and on behalf of 
Unterzeichnet für und im Namen von / Signé par et au nom de / Firmato in vece e per conto di 

ABB STRIEBEL & JOHN GmbH 
Am Fuchsgraben 2-3 
77880 Sasbach  Germany 
 
Sasbach, February 19, 2025 

  
i.V. Jan Leuchtenmüller i.A. Matthias Kratzke 
Manager QM R&D 
 

  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 2 - 

 

Annex I: Object of declaration 
 

Type Short description Material-No.  
R112T4 R112T4     Switchgear cabin. 1PW/12GU/D4 2CPX047061R9999 

RM18A RM18A      mounting plate 1PW 12GU ass. 2CPX010774R9999 

RM28A RM28A      mounting plate 2PW 12GU ass. 2CPX010775R9999 

RM38A RM38A      mounting plate 3PW 12GU ass. 2CPX010776R9999 

RM48A RM48A      mounting plate 4PW 12GU ass. 2CPX010777R9999 

RZT212A RZT212A    Transparent door 2PW/12GU 2CPX020001R9999 

RZT312A RZT312A    Transparent door 3PW/12GU 2CPX020002R9999 

RZT412LA RZT412LA   Transparent door 4PW/12GU Le 2CPX020003R9999 

RZT412RA RZT412RA   Transparent door 4PW/12GU Re 2CPX020004R9999 

RZT512LA RZT512LA   Transparent door 5PW/12GU Le 2CPX020005R9999 

RZT512RA RZT512RA   Transparent door 5PW/12GU Re 2CPX020006R9999 

RZT214A RZT214A    Transparent door 2PW/14GU 2CPX020008R9999 

RZT314A RZT314A    Transparent door 3PW/14GU 2CPX020009R9999 

RZT414LA RZT414LA   Transparent door 4PW/14GU Le 2CPX020010R9999 

RZT414RA RZT414RA   Transparent door 4PW/14GU Re 2CPX020011R9999 

RZT514LA RZT514LA   Transparent door 5PW/14GU Le 2CPX020012R9999 

RZT514RA RZT514RA   Transparent door 5PW/14GU Re 2CPX020013R9999 

RZS14A RZS14A     Plinth 1FB/D4 100mm 2CPX020014R9999 

RZS24A RZS24A     Plinth 2FB/D4 100mm 2CPX020015R9999 

RZS34A RZS34A     Plinth 3FB/D4 100mm 2CPX020016R9999 

RZS44A RZS44A     Plinth 4FB/D4 100mm 2CPX020017R9999 

RZS54A RZS54A     Plinth 5FB/D4 100mm 2CPX020018R9999 

RZS16A RZS16A     Plinth 1FB/D6 100mm 2CPX020019R9999 

RZS26A RZS26A     Plinth 2FB/D6 100mm 2CPX020020R9999 

RZS36A RZS36A     Plinth 3FB/D6 100mm 2CPX020021R9999 

RZS46A RZS46A     Plinth 4FB/D6 100mm 2CPX020022R9999 

RZS56A RZS56A     Plinth 5FB/D6 100mm 2CPX020023R9999 

RZB112A RZB112A    Blind door 1PW/12GU 2CPX020084R9999 

RZB212A RZB212A    Blind door 2PW/12GU 2CPX020085R9999 

RZB312A RZB312A    Blind door 3PW/12GU 2CPX020086R9999 

RZB412LA RZB412LA   Blind door 4PW/12GU Le 2CPX020087R9999 

RZB412RA RZB412RA   Blind door 4PW/12GU Re 2CPX020088R9999 

RZB512LA RZB512LA   Blind door 5PW/12GU Le 2CPX020089R9999 

R212T4 R212T4     Switchgear cabin. 2PW/12GU/D4 2CPX047062R9999 

RZB512RA RZB512RA   Blind door 5PW/12GU Re 2CPX020090R9999 

RZB114A RZB114A    Blind door 1PW/14GU 2CPX020091R9999 

RZB214A RZB214A    Blind door 2PW/14GU 2CPX020092R9999 

RZB314A RZB314A    Blind door 3PW/14GU 2CPX020093R9999 

RZB414LA RZB414LA   Blind door 4PW/14GU Le 2CPX020094R9999 

RZB414RA RZB414RA   Blind door 4PW/14GU Re 2CPX020095R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 3 - 

 

 
Type Short description Material-No.  
RZB514LA RZB514LA   Blind door 5PW/14GU Le 2CPX020096R9999 

RZB514RA RZB514RA   Blind door 5PW/14GU Re 2CPX020097R9999 

RZ201A RZ201A     TriLine hinges complete door 2CPX021153R9999 

RSW86P2A RSW86P2A   Dide wall H8 D6 2pcs 2CPX021176R9999 

ZA150A ZA150A     Circuit Diagram Pock DIN A4 2CPX021427R9999 

ZA150 ZA150      Circuit Diagram Pock DIN A4 2CPX021428R9999 

RZ11P4A RZ11P4A    Transportation lugs 2CPX021615R9999 

RZ9P4A RZ9P4A     Hinge 180° for standard doors 2CPX021618R9999 

ZH223A ZH223A     Swivel handle 40mm 2CPX021619R9999 

RZ149 RZ149      Cabinet connecting set 2CPX021832R9999 

ZX739P10 ZX739P10   Hexag. Screw M10x16mm vz 2CPX021856R9999 

ZX745P10 ZX745P10   Hexag. Screw M10x45mm vz 2CPX021857R9999 

ZX741P10 ZX741P10   Hexag. Screw M10x25mm vz 2CPX021858R9999 

ZX765P10 ZX765P10   Hexag. Screw M12x45mm vz 2CPX021859R9999 

RZ65A RZ65A      Cellular rubber flange 2PW 2CPX023168R9999 

RZ66A RZ66A      Cellular rubber flange 3PW 2CPX023169R9999 

RTW861A RTW861A    Partition Cab.-Cab. H8/D6 2CPX023172R9999 

RZ1P4A RZ1P4A     WR-Frame/Mo Pla Holder 2CPX023978R9999 

RZT3P2A RZT3P2A    Mounting cross profile D3 2CPX023979R9999 

RZT4P2A RZT4P2A    Mounting cross profile D4 2CPX023980R9999 

RZT6P2A RZT6P2A    Mounting cross profile D6 2CPX023981R9999 

RD14F3A RD14F3A    Top plate TZ flange 1PW/D4 2CPX024074R9999 

RD24F3A RD24F3A    Top plate TZ flange 2PW/D4 2CPX024075R9999 

RD34F3A RD34F3A    Top plate TZ flange 3PW/D4 2CPX024076R9999 

RD44F3A RD44F3A    Top plate TZ flange 4PW/D4 2CPX024077R9999 

RD54F3A RD54F3A    Top plate TZ flange 5PW/D4 2CPX024078R9999 

RD16F3A RD16F3A    Top plate TZ flange 1PW/D6 2CPX024079R9999 

RD26F3A RD26F3A    Top plate TZ flange 2PW/D6 2CPX024080R9999 

RD36F3A RD36F3A    Top plate TZ flange 3PW/D6 2CPX024081R9999 

RD46F3A RD46F3A    Top plate TZ flange 4PW/D6 2CPX024082R9999 

RD56F3A RD56F3A    Top plate TZ flange 5PW/D6 2CPX024083R9999 

RD16F4A RD16F4A    Top plate 2xTZ flange 1PW/D6 2CPX024084R9999 

RD26F4A RD26F4A    Top plate 2xTZ flange 2PW/D6 2CPX024085R9999 

RD36F4A RD36F4A    Top plate 2xTZ flange 3PW/D6 2CPX024086R9999 

RD46F4A RD46F4A    Top plate 2xTZ flange 4PW/D6 2CPX024087R9999 

RD56F4A RD56F4A    Top plate 2xTZ flange 5PW/D6 2CPX024088R9999 

RB14F3A RB14F3A    Bottom plate TZ flange 1PW/D4 2CPX024089R9999 

RB24F3A RB24F3A    Bottom plate TZ flange 2PW/D4 2CPX024090R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 4 - 

 

 
Type Short description Material-No.  
RB34F3A RB34F3A    Bottom plate TZ flange 3PW/D4 2CPX024091R9999 

RB44F3A RB44F3A    Bottom plate TZ flange 4PW/D4 2CPX024092R9999 

RB54F3A RB54F3A    Bottom plate TZ flange 5PW/D4 2CPX024093R9999 

RB16F3A RB16F3A    Bottom plate TZ flange 1PW/D6 2CPX024094R9999 

RB26F3A RB26F3A    Bottom plate TZ flange 2PW/D6 2CPX024095R9999 

RB36F3A RB36F3A    Bottom plate TZ flange 3PW/D6 2CPX024096R9999 

RB46F3A RB46F3A    Bottom plate TZ flange 4PW/D6 2CPX024097R9999 

RB56F3A RB56F3A    Bottom plate TZ flange 5PW/D6 2CPX024098R9999 

ZX181 ZX181      Hexag. Head Screw M12x100 2CPX044035R9999 

ZX182 ZX182      Hexag. Head Screw M12x110 2CPX044036R9999 

ZX183 ZX183      Hexag. Head Screw M12x120 2CPX044037R9999 

ZX184 ZX184      Hexag. Head Screw M12x130 2CPX044038R9999 

ZX186 ZX186      Hexag. Head Screw M12x150 2CPX044040R9999 

ZX188 ZX188      Hexag. Head Screw M12x170 2CPX044042R9999 

ZX190 ZX190      Sliding Nut M12 25x25x8mm 2CPX044153R9999 

ZH220 ZH220      Escutcheon 2 Way 3/5mm 2CPX045700R9999 

ZH221 ZH221      Escutcheon 3/4 squared 2CPX045701R9999 

ZH222 ZH222      Escutcheon for Handles 2CPX045702R9999 

ZH223 ZH223      Cabinet Handle 2CPX045703R9999 

RD13G RD13G      Roof plate closed 2CPX045711R9999 

RD23G RD23G      Roof plate closed 2CPX045712R9999 

RD33G RD33G      Roof plate closed 2CPX045713R9999 

RD43G RD43G      Roof plate closed 2CPX045714R9999 

RD53G RD53G      Roof plate closed 2CPX045715R9999 

RD14G RD14G      Roof plate closed 2CPX045716R9999 

RD24G RD24G      Roof plate closed 2CPX045717R9999 

RD34G RD34G      Roof plate closed 2CPX045718R9999 

RD44G RD44G      Roof plate closed 2CPX045719R9999 

RD54G RD54G      Roof plate closed 2CPX045720R9999 

RD16G RD16G      Roof plate closed 2CPX045721R9999 

RD26G RD26G      Roof plate closed 2CPX045722R9999 

RD36G RD36G      Roof plate closed 2CPX045723R9999 

RD46G RD46G      Roof plate closed 2CPX045724R9999 

RD56G RD56G      Roof plate closed 2CPX045725R9999 

RB13G RB13G      Base plate closed 2CPX045765R9999 

RB23G RB23G      Base plate closed 2CPX045766R9999 

RB33G RB33G      Base plate closed 2CPX045767R9999 

RB43G RB43G      Base plate closed 2CPX045768R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 5 - 

 

 
Type Short description Material-No.  
RB53G RB53G      Base plate closed 2CPX045769R9999 

RB14G RB14G      Base plate closed 2CPX045770R9999 

RB24G RB24G      Base plate closed 2CPX045771R9999 

RB34G RB34G      Base plate closed 2CPX045772R9999 

RB44G RB44G      Base plate closed 2CPX045773R9999 

RB54G RB54G      Base plate closed 2CPX045774R9999 

RB16G RB16G      Base plate closed 2CPX045775R9999 

RB26G RB26G      Base plate closed 2CPX045776R9999 

RB36G RB36G      Base plate closed 2CPX045777R9999 

RB46G RB46G      Base plate closed 2CPX045778R9999 

RB56G RB56G      Base plate closed 2CPX045779R9999 

RSW83P2 RSW83P2    Set of Side walls H8/T3 2CPX045820R9999 

RSW84P2 RSW84P2    Set of Side walls H8/T4 2CPX045821R9999 

RSW86P2 RSW86P2    Side wall H8 D6 2 pcs. 2CPX045822R9999 

RSW103P2 RSW103P2   Set of Side walls H10/T3 2CPX045824R9999 

RSW104P2 RSW104P2   Set of Side walls H10/T4 2CPX045825R9999 

RSW106P2 RSW106P2   Set of Side walls H10/T6 2CPX045826R9999 

RM18 RM18       Mounting Plate W1/H8 2CPX045909R9999 

RM28 RM28       Mounting Plate W2/H8 2CPX045910R9999 

RM38 RM38       Mounting Plate W3/H8 2CPX045911R9999 

RM48 RM48       Mounting Plate W4/H8 2CPX045912R9999 

RM110 RM110      Mounting Plate W1/H10 2CPX045913R9999 

RM210 RM210      Mounting Plate W2/H10 2CPX045914R9999 

RM310 RM310      Mounting Plate W3/H10 2CPX045915R9999 

RM410 RM410      Mounting Plate W4/H10 2CPX045916R9999 

RM8 RM8        Mo.pla. intermed. Part H8 2CPX045918R9999 

RM10 RM10       Mo.pla. intermed. Part H10 2CPX045919R9999 

RB18 RB18       Touch Guard W1/H8 2CPX045930R9999 

RB28 RB28       Touch Guard W2/H8 2CPX045931R9999 

RB38 RB38       Touch Guard W3/H8 2CPX045932R9999 

RB48 RB48       Touch Guard W4/H8 2CPX045933R9999 

RB58 RB58       Touch Guard W5/H8 2CPX045934R9999 

RB110 RB110      Touch Guard W1/H10 2CPX045935R9999 

RB210 RB210      Touch Guard W2/H10 2CPX045936R9999 

RB310 RB310      Touch Guard W3/H10 2CPX045937R9999 

RB410 RB410      Touch Guard W4/H10 2CPX045938R9999 

RB510 RB510      Touch Guard W5/H10 2CPX045939R9999 

RFB18 RFB18      Front trim frame W1/H8 2CPX045940R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 6 - 

 

 
Type Short description Material-No.  
RFB28 RFB28      Front trim frame W2/H8 2CPX045941R9999 

RFB38 RFB38      Front trim frame W3/H8 2CPX045942R9999 

RFB48 RFB48      Front trim frame W4/H8 2CPX045943R9999 

RFB58 RFB58      Front trim frame W5/H8 2CPX045944R9999 

RFB110 RFB110     Front trim frame W1/H10 2CPX045945R9999 

RFB210 RFB210     Front trim frame W2/H10 2CPX045946R9999 

RFB310 RFB310     Front trim frame W3/H10 2CPX045947R9999 

RFB410 RFB410     Front trim frame W4/H10 2CPX045948R9999 

RFB510 RFB510     Front trim frame W5/H10 2CPX045949R9999 

RZ1P4 RZ1P4      WR-Frame/Mo.pla. Holder 2CPX045950R9999 

RZT3P2 RZT3P2     Mounting cross profile D3 2CPX045952R9999 

RZT4P2 RZT4P2     Mounting cross profile D4 2CPX045953R9999 

RZT6P2 RZT6P2     Mounting cross profile D6 2CPX045954R9999 

RNF1 RNF1       Installation Set 1PW 2CPX045956R9999 

RNF2 RNF2       Installation Set 2PW 2CPX045957R9999 

RNF3 RNF3       Installation Set 3PW 2CPX045958R9999 

RNF4 RNF4       Installation Set 4PW 2CPX045959R9999 

RNF5 RNF5       Installation Set 5PW 2CPX045960R9999 

RZ21 RZ21       Carrier rail 1 PW 2CPX045966R9999 

RZ22 RZ22       Carrier rail 2 PW 2CPX045967R9999 

RZ23 RZ23       Carrier rail 3 PW 2CPX045968R9999 

RZ24 RZ24       Carrier rail 4 PW 2CPX045969R9999 

RZ25 RZ25       Carrier rail 5 PW 2CPX045970R9999 

RZ26 RZ26       Centre rail 1 PW 2CPX045971R9999 

RZ27 RZ27       Centre rail 2 PW 2CPX045972R9999 

RZ28 RZ28       Centre rail 3 PW 2CPX045973R9999 

RZ29 RZ29       Centre rail 4 PW 2CPX045974R9999 

RZ30 RZ30       Centre rail 5 PW 2CPX045975R9999 

RZUT3 RZUT3      Mounting Cross Profile D3 2CPX045976R9999 

RZUT4 RZUT4      Mounting Cross Profile D4 2CPX045977R9999 

RZUT6 RZUT6      Mounting Cross Profile D6 2CPX045978R9999 

RZUB1 RZUB1      Mounting Cross Profile W1 2CPX045980R9999 

RZUB2 RZUB2      Mounting Cross Profile W2 2CPX045981R9999 

RZUB3 RZUB3      Mounting Cross Profile W3 2CPX045982R9999 

RZUB4 RZUB4      Mounting Cross Profile W4 2CPX045983R9999 

RZUB5 RZUB5      Mounting Cross Profile W5 2CPX045984R9999 

RZUH8 RZUH8      Mounting Cross Profile H8 2CPX045985R9999 

RZUH10 RZUH10     Mounting Cross Profile H1 2CPX045986R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 7 - 

 

 
Type Short description Material-No.  
RZ31P2 RZ31P2     Bracket f. Centre rail 2CPX045987R9999 

RZ6P2 RZ6P2      Bracket f. Cross Prof. RZU 2CPX045990R9999 

RZ7P2 RZ7P2      Bracket f. Cross Profile RZUL 2CPX045991R9999 

RZ8P4 RZ8P4      Hinge 130° 2CPX045992R9999 

RZ9P4 RZ9P4      Hinge 180° 2CPX045993R9999 

RZ10P2 RZ10P2     Rubber Seal 2CPX045994R9999 

RZ11P4 RZ11P4     Transportation lugs 2CPX045995R9999 

RZ32P2 RZ32P2     External fastening bracket 2CPX045996R9999 

RZ33 RZ33       Connecting Set 2CPX045997R9999 

RZ12P20 RZ12P20    Fill.Head Screw M6x10 Torx 2CPX046000R9999 

RZ12P500 RZ12P500   Fill.Head Screw M6x10 Torx 2CPX046001R9999 

RZ13P20 RZ13P20    Counters. Screw M6x12 Torx 2CPX046002R9999 

RZ14P20 RZ14P20    Fill.Head Screw M6x16 Torx 2CPX046003R9999 

RZ15P20 RZ15P20    Fill.Head Screw M6x16 Torx 2CPX046004R9999 

RZ3P4 RZ3P4      Floor fastener for Plinth 2CPX046006R9999 

RZ4P4 RZ4P4      Height Level Equalisation 2CPX046007R9999 

RZ5P4 RZ5P4      Plinth Connection 2CPX046008R9999 

RZ34P4 RZ34P4     Hinge pins 2CPX046009R9999 

RZ35P2 RZ35P2     Bracket f. cable rail 2CPX046010R9999 

RZ6P20 RZ6P20     Bracket f. Cross Profile RZU 2CPX046011R9999 

RZ7P20 RZ7P20     Bracket f. Cross Profile RZUL 2CPX046012R9999 

RZ36 RZ36       Earthing Set TriLine-R 2CPX046013R9999 

RZ37P20 RZ37P20    Press-Hole Nut M6 2CPX046014R9999 

RZ39P2 RZ39P2     Bracket f. Cross Profile 90° 2CPX046017R9999 

RZ39P20 RZ39P20    Bracket f. Cross Profile 90° 2CPX046018R9999 

RZ40P2 RZ40P2     Bracket hat f. Cross Profile 2CPX046019R9999 

RZ40P20 RZ40P20    Bracket hat f. Cross Profile 2CPX046020R9999 

RZB11 RZB11      Profile No.1 1PW 2CPX046021R9999 

RZB21 RZB21      Profile No.1 2PW 2CPX046022R9999 

RZB31 RZB31      Profile No.1 3PW 2CPX046023R9999 

RZB41 RZB41      Profile No.1 4PW 2CPX046024R9999 

RZB51 RZB51      Profile No.1 5PW 2CPX046025R9999 

RZT33 RZT33      Profile No.3 D3 2CPX046026R9999 

RZT43 RZT43      Profile No.3 D4 2CPX046027R9999 

RZT63 RZT63      Profile No.3 D6 2CPX046028R9999 

RZB13 RZB13      Profile No.3 1PW 2CPX046030R9999 

RZB23 RZB23      Profile No.3 2PW 2CPX046031R9999 

RZB33 RZB33      Profile No.3 3PW 2CPX046032R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 8 - 

 

 
Type Short description Material-No.  
RZB43 RZB43      Profile No.3 4PW 2CPX046033R9999 

RZB53 RZB53      Profile No.3 5PW 2CPX046034R9999 

RZT310 RZT310     Profile No.10 D3 2CPX046035R9999 

RZT410 RZT410     Profile No.10 D4 2CPX046036R9999 

RZT610 RZT610     Profile No.10 D6 2CPX046037R9999 

RZB110 RZB110     Profile No.10 1PW 2CPX046039R9999 

RZB210 RZB210     Profile No.10 2PW 2CPX046040R9999 

RZB310 RZB310     Profile No.10 3PW 2CPX046041R9999 

RZB410 RZB410     Profile No.10 4PW 2CPX046042R9999 

RZB510 RZB510     Profile No.10 5PW 2CPX046043R9999 

RZTA310 RZTA310    Profile No.10 D3 2CPX046045R9999 

RZTA410 RZTA410    Profile No.10 D4 2CPX046046R9999 

RZTA610 RZTA610    Profile No.10 D6 2CPX046047R9999 

RZBA110 RZBA110    Profile No.10 1PW 2CPX046049R9999 

RZBA210 RZBA210    Profile No.10 2PW 2CPX046050R9999 

RZBA310 RZBA310    Profile No.10 3PW 2CPX046051R9999 

RZBA410 RZBA410    Profile No.10 4PW 2CPX046052R9999 

RZBA510 RZBA510    Profile No.10 5PW 2CPX046053R9999 

RZULT3 RZULT3     Mounting Cross Profile D3 2CPX046054R9999 

RZULT4 RZULT4     Mounting Cross Profile D4 2CPX046055R9999 

RZULT6 RZULT6     Mounting Cross Profile D6 2CPX046056R9999 

RZULB1 RZULB1     Mounting Cross Profile W1 2CPX046058R9999 

RZULB2 RZULB2     Mounting Cross Profile W2 2CPX046059R9999 

RZULB3 RZULB3     Mounting Cross Profile W3 2CPX046060R9999 

RZULB4 RZULB4     Mounting Cross Profile W4 2CPX046061R9999 

RZULB5 RZULB5     Mounting Cross Profile W5 2CPX046062R9999 

RZULH8 RZULH8     Mounting Cross Profile H8 2CPX046063R9999 

RZULH10 RZULH10    Mounting Cross Profile H10 2CPX046064R9999 

RZ41P2 RZ41P2     Bracket f. Profile shifting 2CPX046065R9999 

RZ41P20 RZ41P20    Bracket f. Profile shifting 2CPX046066R9999 

RZ42 RZ42       Bracket f. BB holder ZX64x 2CPX046067R9999 

RZ43 RZ43       Bracket f. BB holder ZX522 2CPX046069R9999 

RZ44P4 RZ44P4     Bracket f. switch attachment 2CPX046071R9999 

RZ46 RZ46       Bracket f. PE/PEN 2CPX046075R9999 

ZX658P10 ZX658P10   Sliding Nut M6 2CPX046095R9999 

ZX659P10 ZX659P10   Sliding Nut M8 2CPX046096R9999 

ZX660P10 ZX660P10   Sliding Nut M10 2CPX046097R9999 

ZX661P10 ZX661P10   Sliding Nut M12 2CPX046098R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 9 - 

 

 
Type Short description Material-No.  
RZ48 RZ48       Bracket f. cable rail 2CPX046100R9999 

RZBA11 RZBA11     Profile No.1  1 PW 2CPX046102R9999 

RZBA21 RZBA21     Profile No.1  2 PW 2CPX046103R9999 

RZBA31 RZBA31     Profile No.1  3 PW 2CPX046104R9999 

RZBA41 RZBA41     Profile No.1  4 PW 2CPX046105R9999 

RZBA51 RZBA51     Profile No.1  5 PW 2CPX046106R9999 

RZBA13 RZBA13     Profile No.3  1 PW 2CPX046107R9999 

RZBA23 RZBA23     Profile No.3  2 PW 2CPX046108R9999 

RZBA33 RZBA33     Profile No.3  3 PW 2CPX046109R9999 

RZBA43 RZBA43     Profile No.3  4 PW 2CPX046110R9999 

RZBA53 RZBA53     Profile No.3  5 PW 2CPX046111R9999 

RZ54P2 RZ54P2     Hinge 180° for Module doors 2CPX046165R9999 

RZ55 RZ55       Earthing set for 180° hinges 2CPX046166R9999 

RZ65 RZ65       Cellular rubber flange 2PW 2CPX046225R9999 

RZ66 RZ66       Cellular rubber flange 3PW 2CPX046226R9999 

RZ147 RZ147      Cab. Connect. set (Partition) 2CPX046230R9999 

RTW831 RTW831     Partition Cab.-Cab. H8/D3 2CPX046231R9999 

RTW841 RTW841     Partition Cab.-Cab. H8/D4 2CPX046232R9999 

RTW861 RTW861     Partition Cab.-Cab. H8/D6 2CPX046233R9999 

RTW1031 RTW1031    Partition Cab.-Cab. H10/D3 2CPX046235R9999 

RTW1041 RTW1041    Partition Cab.-Cab. H10/D4 2CPX046236R9999 

RTW1061 RTW1061    Partition Cab.-Cab. H10/D6 2CPX046237R9999 

ZX662P10 ZX662P10   Sliding Nut M5 2CPX046249R9999 

ZX663P20 ZX663P20   Cheese Head Screw M6x25 2CPX046251R9999 

ZX722P10 ZX722P10   Cheese Head Screw M8x30 2CPX046252R9999 

ZX724P10 ZX724P10   Cheese Head Screw M8x40 2CPX046253R9999 

ZX726P10 ZX726P10   Cheese Head Screw M8x50 2CPX046254R9999 

ZX774P10 ZX774P10   Cheese Head Screw M12x90 2CPX046255R9999 

ZX723P10 ZX723P10   Cheese Head Screw M8x35 2CPX046301R9999 

ZX656P20 ZX656P20   Screw Driver Plate M10 2CPX046302R9999 

ZX728P10 ZX728P10   Cheese Head Screw M8x60mm 2CPX046434R9999 

RRW18 RRW18      Rear wall 1PW OH8 2CPX046511R9999 

RRW28 RRW28      Rear wall 2PW OH8 2CPX046512R9999 

RRW38 RRW38      Rear wall 3PW OH8 2CPX046513R9999 

RRW48L RRW48L     Rear wall 4PW OH8 left 2CPX046514R9999 

RRW48R RRW48R     Rear wall 4PW OH8 right 2CPX046515R9999 

RRW58L RRW58L     Rear wall 5PW OH8 left 2CPX046516R9999 

RRW58R RRW58R     Rear wall 5PW OH8 right 2CPX046517R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 10 - 

 

 
Type Short description Material-No.  
RZUH10 RZUH10     Mounting Cross Profile H1 2CPX045986R9999 

RZ31P2 RZ31P2     Bracket f. Centre rail 2CPX045987R9999 

RZ6P2 RZ6P2      Bracket f. Cross Prof. RZU 2CPX045990R9999 

RZ7P2 RZ7P2      Bracket f. Cross Profile RZUL 2CPX045991R9999 

RZ8P4 RZ8P4      Hinge 130° 2CPX045992R9999 

RZ9P4 RZ9P4      Hinge 180° 2CPX045993R9999 

RZ10P2 RZ10P2     Rubber Seal 2CPX045994R9999 

RZ11P4 RZ11P4     Transportation lugs 2CPX045995R9999 

RZ32P2 RZ32P2     External fastening bracket 2CPX045996R9999 

RZ33 RZ33       Connecting Set 2CPX045997R9999 

RZ12P20 RZ12P20    Fill.Head Screw M6x10 Torx 2CPX046000R9999 

RZ12P500 RZ12P500   Fill.Head Screw M6x10 Torx 2CPX046001R9999 

RZ13P20 RZ13P20    Counters. Screw M6x12 Torx 2CPX046002R9999 

RZ14P20 RZ14P20    Fill.Head Screw M6x16 Torx 2CPX046003R9999 

RZ15P20 RZ15P20    Fill.Head Screw M6x16 Torx 2CPX046004R9999 

RZ3P4 RZ3P4      Floor fastener for Plinth 2CPX046006R9999 

RZ4P4 RZ4P4      Height Level Equalisation 2CPX046007R9999 

RZ5P4 RZ5P4      Plinth Connection 2CPX046008R9999 

RZ34P4 RZ34P4     Hinge pins 2CPX046009R9999 

RZ35P2 RZ35P2     Bracket f. cable rail 2CPX046010R9999 

RZ6P20 RZ6P20     Bracket f. Cross Profile RZU 2CPX046011R9999 

RZ7P20 RZ7P20     Bracket f. Cross Profile RZUL 2CPX046012R9999 

RZ36 RZ36       Earthing Set TriLine-R 2CPX046013R9999 

RZ37P20 RZ37P20    Press-Hole Nut M6 2CPX046014R9999 

RZ39P2 RZ39P2     Bracket f. Cross Profile 90° 2CPX046017R9999 

RZ39P20 RZ39P20    Bracket f. Cross Profile 90° 2CPX046018R9999 

RZ40P2 RZ40P2     Bracket hat f. Cross Profile 2CPX046019R9999 

RZ40P20 RZ40P20    Bracket hat f. Cross Profile 2CPX046020R9999 

RZB11 RZB11      Profile No.1 1PW 2CPX046021R9999 

RZB21 RZB21      Profile No.1 2PW 2CPX046022R9999 

RZB31 RZB31      Profile No.1 3PW 2CPX046023R9999 

RZB41 RZB41      Profile No.1 4PW 2CPX046024R9999 

RZB51 RZB51      Profile No.1 5PW 2CPX046025R9999 

RZT43 RZT43      Profile No.3 D4 2CPX046027R9999 

RZT63 RZT63      Profile No.3 D6 2CPX046028R9999 

RZB13 RZB13      Profile No.3 1PW 2CPX046030R9999 

RZB23 RZB23      Profile No.3 2PW 2CPX046031R9999 

RZB33 RZB33      Profile No.3 3PW 2CPX046032R9999 

RZB43 RZB43      Profile No.3 4PW 2CPX046033R9999 

RZB53 RZB53      Profile No.3 5PW 2CPX046034R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 11 - 

 

 
Type Short description Material-No.  
RRW110 RRW110     Rear wall 1PW OH10 2CPX046518R9999 

RRW210 RRW210     Rear wall 2PW OH10 2CPX046519R9999 

RRW310 RRW310     Rear wall 3PW OH10 2CPX046520R9999 

RRW410L RRW410L    Rear wall 4PW OH10 left 2CPX046521R9999 

RRW410R RRW410R    Rear wall 4PW OH10 right 2CPX046522R9999 

RRW510L RRW510L    Rear wall 5PW OH10 left 2CPX046523R9999 

RRW510R RRW510R    Rear wall 5PW OH10 right 2CPX046524R9999 

RZ52 RZ52       Fill. head screw M10x30mm 2CPX046527R9999 

RZ14 RZ14       Oval head screw M6x16mm 2CPX046529R9999 

RZF9 RZF9       Cable support sleeve 14-54mm 2CPX046612R9999 

RZF10 RZF10      Cable support sleeve 14-68mm 2CPX046613R9999 

RB24F RB24F      Base plate w.sinus fl. PW2/D4 2CPX046624R9999 

RB26F RB26F      Base plate w.sinus fl. PW2/D6 2CPX046625R9999 

RB34F RB34F      Base plate w.sinus fl. PW3/D4 2CPX046627R9999 

RB36F RB36F      Base plate w.sinus fl. PW3/D6 2CPX046628R9999 

RB44F RB44F      Base plate w.sinus fl. PW4/D4 2CPX046630R9999 

RB46F RB46F      Base plate w.sinus fl. PW4/D6 2CPX046631R9999 

RB54F RB54F      Base plate w.sinus fl. PW5/D4 2CPX046633R9999 

RB56F RB56F      Base plate w.sinus fl. PW5/D6 2CPX046634R9999 

RPB1P4 RPB1P4     Profile TriLine-R 1PW 2CPX046771R9999 

RPB2P4 RPB2P4     Profile TriLine-R 2PW/D6 2CPX046772R9999 

RPB3P4 RPB3P4     Profile TriLine-R 3PW 2CPX046774R9999 

RPB4P4 RPB4P4     Profile TriLine-R 4PW 2CPX046775R9999 

RPB5P4 RPB5P4     Profile TriLine-R 5PW 2CPX046776R9999 

RPH8P4 RPH8P4     Profile TriLine-R OH8 2CPX046777R9999 

RPH10P4 RPH10P4    Profile TriLine-R OH10 2CPX046778R9999 

RPT3P4 RPT3P4     Profile TriLine-R D3 2CPX046779R9999 

RPT4P4 RPT4P4     Profile TriLine-R D4 2CPX046780R9999 

RZ200 RZ200      Triline-R Pack corner pieces 2CPX046782R9999 

RZ201 RZ201      Triline-R Pack Hinges stand 2CPX046783R9999 

RZ202 RZ202      Triline-R Pack Hinges modul 2CPX046784R9999 

RZF18 RZF18      Cable support sleeve 10-34mm 2CPX046900R9999 

RZF19 RZF19      Cable support sleeve 18-54mm 2CPX046901R9999 

RZB112 RZB112     Blind door 1PW/12GU 2CPX046986R9999 

RZB212 RZB212     Blind door 2PW/12GU 2CPX046987R9999 

RZB312 RZB312     Blind door 3PW/12GU 2CPX046988R9999 

RZB412L RZB412L    Blind door 4PW/12GU Le 2CPX046989R9999 

RZB412R RZB412R    Blind door 4PW/12GU Re 2CPX046990R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 12 - 

 

 
Type Short description Material-No.  
RZB512L RZB512L    Blind door 5PW/12GU Le 2CPX046991R9999 

RZB512R RZB512R    Blind door 5PW/12GU Re 2CPX046992R9999 

RZB114 RZB114     Blind door 1PW/14GU 2CPX046993R9999 

RZB214 RZB214     Blind door 2PW/14GU 2CPX046994R9999 

RZB314 RZB314     Blind door 3PW/14GU 2CPX046995R9999 

RZB414L RZB414L    Blind door 4PW/14GU Le 2CPX046996R9999 

RZB414R RZB414R    Blind door 4PW/14GU Re 2CPX046997R9999 

RZB514L RZB514L    Blind door 5PW/14GU Le 2CPX046998R9999 

RZB514R RZB514R    Blind door 5PW/14GU Re 2CPX046999R9999 

RZT4P40 RZT4P40    Mounting cross profile T4 P40 2CPX047013R9999 

RZT212 RZT212     Transparent door 2PW/12GU 2CPX047033R9999 

RZT312 RZT312     Transparent door 3PW/12GU 2CPX047034R9999 

RZT412L RZT412L    Transparent door 4PW/12GU Le 2CPX047035R9999 

RZT412R RZT412R    Transparent door 4PW/12GU Re 2CPX047036R9999 

RZT512L RZT512L    Transparent door 5PW/12GU Le 2CPX047037R9999 

RZT512R RZT512R    Transparent door 5PW/12GU Re 2CPX047038R9999 

RZT214 RZT214     Transparent door 2PW/14GU 2CPX047040R9999 

RZT314 RZT314     Transparent door 3PW/14GU 2CPX047041R9999 

RZT414L RZT414L    Transparent door 4PW/14GU Le 2CPX047042R9999 

RZT414R RZT414R    Transparent door 4PW/14GU Re 2CPX047043R9999 

RZT514L RZT514L    Transparent door 5PW/14GU Le 2CPX047044R9999 

RZT514R RZT514R    Transparent door 5PW/14GU Re 2CPX047045R9999 

RZS14 RZS14      Plinth 1FB/D4 100mm 2CPX047046R9999 

RZS24 RZS24      Plinth 2FB/D4 100mm 2CPX047047R9999 

RZS34 RZS34      Plinth 3FB/D4 100mm 2CPX047048R9999 

RZS44 RZS44      Plinth 4FB/D4 100mm 2CPX047049R9999 

RZS54 RZS54      Plinth 5FB/D4 100mm 2CPX047050R9999 

RZS16 RZS16      Plinth 1FB/D6 100mm 2CPX047051R9999 

RZS26 RZS26      Plinth 2FB/D6 100mm 2CPX047052R9999 

RZS36 RZS36      Plinth 3FB/D6 100mm 2CPX047053R9999 

RZS46 RZS46      Plinth 4FB/D6 100mm 2CPX047054R9999 

RZS56 RZS56      Plinth 5FB/D6 100mm 2CPX047055R9999 

RZS14V RZS14V     Plinth 1FB/D4 vent holes 2CPX047056R9999 

RZS24V RZS24V     Plinth 2FB/D4 vent holes 2CPX047057R9999 

RZS34V RZS34V     Plinth 3FB/D4 vent holes 2CPX047058R9999 

RZS44V RZS44V     Plinth 4FB/D4 vent holes 2CPX047059R9999 

RZS54V RZS54V     Plinth 5FB/D4 vent holes 2CPX047060R9999 

R112T4 R112T4     Switchgear cabin. 1PW/12GU/D4 2CPX047061R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 13 - 

 

 
Type Short description Material-No.  
R212T4 R212T4     Switchgear cabin. 2PW/12GU/D4 2CPX047062R9999 

R312T4 R312T4     Switchgear cabin. 3PW/12GU/D4 2CPX047063R9999 

R412T4 R412T4     Switchgear cabin. 4PW/12GU/D4 2CPX047064R9999 

R512T4 R512T4     Switchgear cabin. 5PW/12GU/D4 2CPX047065R9999 

R114T4 R114T4     Switchgear cabin. 1PW/14GU/D4 2CPX047066R9999 

R214T4 R214T4     Switchgear cabin. 2PW/14GU/D4 2CPX047067R9999 

R314T4 R314T4     Switchgear cabin. 3PW/14GU/D4 2CPX047068R9999 

R414T4 R414T4     Switchgear cabin. 4PW/14GU/D4 2CPX047069R9999 

R514T4 R514T4     Switchgear cabin. 5PW/14GU/D4 2CPX047070R9999 

R112T6 R112T6     Switchgear cabin. 1PW/12GU/D6 2CPX047071R9999 

R212T6 R212T6     Switchgear cabin. 2PW/12GU/D6 2CPX047072R9999 

R312T6 R312T6     Switchgear cabin. 3PW/12GU/D6 2CPX047073R9999 

R412T6 R412T6     Switchgear cabin. 4PW/12GU/D6 2CPX047074R9999 

R512T6 R512T6     Switchgear cabin. 5PW/12GU/D6 2CPX047075R9999 

R114T6 R114T6     Switchgear cabin. 1PW/14GU/D6 2CPX047076R9999 

R214T6 R214T6     Switchgear cabin. 2PW/14GU/D6 2CPX047077R9999 

R314T6 R314T6     Switchgear cabin. 3PW/14GU/D6 2CPX047078R9999 

R414T6 R414T6     Switchgear cabin. 4PW/14GU/D6 2CPX047079R9999 

R514T6 R514T6     Switchgear cabin. 5PW/14GU/D6 2CPX047080R9999 

R112T4B R112T4B    Frame w. rearwall 1PW/12GU/D4 2CPX047081R9999 

R212T4B R212T4B    Frame w. rearwall 2PW/12GU/D4 2CPX047082R9999 

R312T4B R312T4B    Frame w. rearwall 3PW/12GU/D4 2CPX047083R9999 

R412T4B R412T4B    Frame w. rearwall 4PW/12GU/D4 2CPX047084R9999 

R512T4B R512T4B    Frame w. rearwall 5PW/12GU/D4 2CPX047085R9999 

R114T4B R114T4B    Frame w. rearwall 1PW/14GU/D4 2CPX047086R9999 

R214T4B R214T4B    Frame w. rearwall 2PW/14GU/D4 2CPX047087R9999 

R314T4B R314T4B    Frame w. rearwall 3PW/14GU/D4 2CPX047088R9999 

R414T4B R414T4B    Frame w. rearwall 4PW/14GU/D4 2CPX047089R9999 

R514T4B R514T4B    Frame w. rearwall 5PW/14GU/D4 2CPX047090R9999 

R112T6B R112T6B    Frame w. rearwall 1PW/12GU/D6 2CPX047091R9999 

R212T6B R212T6B    Frame w. rearwall 2PW/12GU/D6 2CPX047092R9999 

R312T6B R312T6B    Frame w. rearwall 3PW/12GU/D6 2CPX047093R9999 

R412T6B R412T6B    Frame w. rearwall 4PW/12GU/D6 2CPX047094R9999 

R512T6B R512T6B    Frame w. rearwall 5PW/12GU/D6 2CPX047095R9999 

R114T6B R114T6B    Frame w. rearwall 1PW/14GU/D6 2CPX047096R9999 

R214T6B R214T6B    Frame w. rearwall 2PW/14GU/D6 2CPX047097R9999 

R314T6B R314T6B    Frame w. rearwall 3PW/14GU/D6 2CPX047098R9999 

R414T6B R414T6B    Frame w. rearwall 4PW/14GU/D6 2CPX047099R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 14 - 

 

 
Type Short description Material-No.  
R514T6B R514T6B    Frame w. rearwall 5PW/14GU/D6 2CPX047100R9999 

RZS13 RZS13      Plinth 1PW/D3 100mm 2CPX047101R9999 

RZS23 RZS23      Plinth 2PW/D3 100mm 2CPX047102R9999 

RZS33 RZS33      Plinth 3PW/D3 100mm 2CPX047103R9999 

RZS43 RZS43      Plinth 4PW/D3 100mm 2CPX047104R9999 

RZS53 RZS53      Plinth 5PW/D3 100mm 2CPX047105R9999 

RZS13A RZS13A     Plinth 1PW/D3 100mm 2CPX047106R9999 

RZS23A RZS23A     Plinth 2PW/D3 100mm 2CPX047107R9999 

RZS33A RZS33A     Plinth 3PW/D3 100mm 2CPX047108R9999 

RZS43A RZS43A     Plinth 4PW/D3 100mm 2CPX047109R9999 

RZS53A RZS53A     Plinth 5PW/D3 100mm 2CPX047110R9999 

RD14F3 RD14F3     Top plate TZ flange 1PW/D4 2CPX047112R9999 

RD24F3 RD24F3     Top plate TZ flange 2PW/D4 2CPX047113R9999 

RD34F3 RD34F3     Top plate TZ flange 3PW/D4 2CPX047114R9999 

RD44F3 RD44F3     Top plate TZ flange 4PW/D4 2CPX047115R9999 

RD54F3 RD54F3     Top plate TZ flange 5PW/D4 2CPX047116R9999 

RD16F3 RD16F3     Top plate TZ flange 1PW/D6 2CPX047117R9999 

RD26F3 RD26F3     Top plate TZ flange 2PW/D6 2CPX047118R9999 

RD36F3 RD36F3     Top plate TZ flange 3PW/D6 2CPX047119R9999 

RD46F3 RD46F3     Top plate TZ flange 4PW/D6 2CPX047120R9999 

RD56F3 RD56F3     Top plate TZ flange 5PW/D6 2CPX047121R9999 

RD16F4 RD16F4     Top plate 2xTZ flange 1PW/D6 2CPX047122R9999 

RD26F4 RD26F4     Top plate 2xTZ flange 2PW/D6 2CPX047123R9999 

RD36F4 RD36F4     Top plate 2xTZ flange 3PW/D6 2CPX047124R9999 

RD46F4 RD46F4     Top plate 2xTZ flange 4PW/D6 2CPX047125R9999 

RD56F4 RD56F4     Top plate 2xTZ flange 5PW/D6 2CPX047126R9999 

RB14F3 RB14F3     Bottom plate TZ flange 1PW/D4 2CPX047127R9999 

RB24F3 RB24F3     Bottom plate TZ flange 2PW/D4 2CPX047128R9999 

RB34F3 RB34F3     Bottom plate TZ flange 3PW/D4 2CPX047129R9999 

RB44F3 RB44F3     Bottom plate TZ flange 4PW/D4 2CPX047130R9999 

RB54F3 RB54F3     Bottom plate TZ flange 5PW/D4 2CPX047131R9999 

RB16F3 RB16F3     Bottom plate TZ flange 1PW/D6 2CPX047132R9999 

RB26F3 RB26F3     Bottom plate TZ flange 2PW/D6 2CPX047133R9999 

RB36F3 RB36F3     Bottom plate TZ flange 3PW/D6 2CPX047134R9999 

RB46F3 RB46F3     Bottom plate TZ flange 4PW/D6 2CPX047135R9999 

RB56F3 RB56F3     Bottom plate TZ flange 5PW/D6 2CPX047136R9999 

RB14GA RB14GA     Base plate closed 2CPX047137R9999 

RB24GA RB24GA     Base plate closed 2CPX047138R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 15 - 

 

 
Type Short description Material-No.  
RB34GA RB34GA     Base plate closed 2CPX047139R9999 

RB44GA RB44GA     Base plate closed 2CPX047140R9999 

RB54GA RB54GA     Base plate closed 2CPX047141R9999 

RB16GA RB16GA     Base plate closed 2CPX047142R9999 

RB26GA RB26GA     Base plate closed 2CPX047143R9999 

RB36GA RB36GA     Base plate closed 2CPX047144R9999 

RB46GA RB46GA     Base plate closed 2CPX047145R9999 

RB56GA RB56GA     Base plate closed 2CPX047146R9999 

RB24FA RB24FA     Base plate w.sinus fl. PW2/D4 2CPX047147R9999 

RB26FA RB26FA     Base plate w.sinus fl. PW2/D6 2CPX047148R9999 

RB34FA RB34FA     Base plate w.sinus fl. PW3/D4 2CPX047149R9999 

RB36FA RB36FA     Base plate w.sinus fl. PW3/D6 2CPX047150R9999 

RB44FA RB44FA     Base plate w.sinus fl. PW4/D4 2CPX047151R9999 

RB46FA RB46FA     Base plate w.sinus fl. PW4/D6 2CPX047152R9999 

RB54FA RB54FA     Base plate w.sinus fl. PW5/D4 2CPX047153R9999 

RB56FA RB56FA     Base plate w.sinus fl. PW5/D6 2CPX047154R9999 

RD14GA RD14GA     Roof plate closed 2CPX047155R9999 

RD24GA RD24GA     Roof plate closed 2CPX047156R9999 

RD34GA RD34GA     Roof plate closed 2CPX047157R9999 

RD44GA RD44GA     Roof plate closed 2CPX047158R9999 

RD54GA RD54GA     Roof plate closed 2CPX047159R9999 

RD16GA RD16GA     Roof plate closed 2CPX047160R9999 

RD26GA RD26GA     Roof plate closed 2CPX047161R9999 

RD36GA RD36GA     Roof plate closed 2CPX047162R9999 

RD46GA RD46GA     Roof plate closed 2CPX047163R9999 

RD56GA RD56GA     Roof plate closed 2CPX047164R9999 

RZ514 RZ514      TriLine IP54 Kit 1PW/D4 2CPX047165R9999 

RZ524 RZ524      TriLine IP54 Kit 2PW/D4 2CPX047166R9999 

RZ534 RZ534      TriLine IP54 Kit 3PW/D4 2CPX047167R9999 

RZ544 RZ544      TriLine IP54 Kit 4PW/D4 2CPX047168R9999 

RZ554 RZ554      TriLine IP54 Kit 5PW/D4 2CPX047169R9999 

RZ516 RZ516      TriLine IP54 Kit 1PW/D6 2CPX047170R9999 

RZ526 RZ526      TriLine IP54 Kit 2PW/D6 2CPX047171R9999 

RZ536 RZ536      TriLine IP54 Kit 3PW/D6 2CPX047172R9999 

RZ546 RZ546      TriLine IP54 Kit 4PW/D6 2CPX047173R9999 

RZ556 RZ556      TriLine IP54 Kit 5PW/D6 2CPX047174R9999 

RZ504 RZ504      Connecting set IP54 D425mm 2CPX047175R9999 

RZ505 RZ505      Connecting set IP54 D625mm 2CPX047176R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 16 - 

 

 
Type Short description Material-No.  
RZ506 RZ506      Connecting set part 2CPX047177R9999 

RZ507 RZ507      Connecting set part 2CPX047178R9999 

RZ18 RZ18       espagnolette closure 12GU 2CPX047179R9999 

RZ20 RZ20       espagnolette closure 14GU 2CPX047180R9999 

RZ17 RZ17       Espagnolette closure dbl 12GU 2CPX047193R9999 

RZ19 RZ19       Espagnolette closure dbl 14GU 2CPX047194R9999 

R112T3 R112T3     Switchgear cabin. 1PW/12GU/D3 2CPX047200R9999 

R212T3 R212T3     Switchgear cabin. 2PW/12GU/D3 2CPX047201R9999 

R312T3 R312T3     Switchgear cabin. 3PW/12GU/D3 2CPX047202R9999 

R412T3 R412T3     Switchgear cabin. 4PW/12GU/D3 2CPX047203R9999 

R512T3 R512T3     Switchgear cabin. 5PW/12GU/D3 2CPX047204R9999 

R114T3 R114T3     Switchgear cabin. 1PW/14GU/D3 2CPX047205R9999 

R214T3 R214T3     Switchgear cabin. 2PW/14GU/D3 2CPX047206R9999 

R314T3 R314T3     Switchgear cabin. 3PW/14GU/D3 2CPX047207R9999 

R414T3 R414T3     Switchgear cabin. 4PW/14GU/D3 2CPX047208R9999 

R514T3 R514T3     Switchgear cabin. 5PW/14GU/D3 2CPX047209R9999 

R112T3B R112T3B    Frame w. rearwall 1PW/12GU/D3 2CPX047210R9999 

R212T3B R212T3B    Frame w. rearwall 2PW/12GU/D3 2CPX047211R9999 

R312T3B R312T3B    Frame w. rearwall 3PW/12GU/D3 2CPX047212R9999 

R412T3B R412T3B    Frame w. rearwall 4PW/12GU/D3 2CPX047213R9999 

R512T3B R512T3B    Frame w. rearwall 5PW/12GU/D3 2CPX047214R9999 

R114T3B R114T3B    Frame w. rearwall 1PW/14GU/D3 2CPX047215R9999 

R214T3B R214T3B    Frame w. rearwall 2PW/14GU/D3 2CPX047216R9999 

R314T3B R314T3B    Frame w. rearwall 3PW/14GU/D3 2CPX047217R9999 

R414T3B R414T3B    Frame w. rearwall 4PW/14GU/D3 2CPX047218R9999 

R514T3B R514T3B    Frame w. rearwall 5PW/14GU/D3 2CPX047219R9999 

RD13GA RD13GA     Roof plate closed 1PW/D3 2CPX047220R9999 

RD23GA RD23GA     Roof plate closed 2PW/D3 2CPX047221R9999 

RD33GA RD33GA     Roof plate closed 3PW/D3 2CPX047222R9999 

RD43GA RD43GA     Roof plate closed 4PW/D3 2CPX047223R9999 

RD53GA RD53GA     Roof plate closed 5PW/D3 2CPX047224R9999 

RD13F3A RD13F3A    Top plate TZ flange 1PW/D3 2CPX047225R9999 

RD23F3A RD23F3A    Top plate TZ flange 2PW/D3 2CPX047226R9999 

RD33F3A RD33F3A    Top plate TZ flange 3PW/D3 2CPX047227R9999 

RD43F3A RD43F3A    Top plate TZ flange 4PW/D3 2CPX047228R9999 

RD53F3A RD53F3A    Top plate TZ flange 5PW/D3 2CPX047229R9999 

RB13F3A RB13F3A    Bottom plate TZ flange 1PW/D3 2CPX047230R9999 

RB23F3A RB23F3A    Bottom plate TZ flange 2PW/D3 2CPX047231R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 17 - 

 

 
Type Short description Material-No.  
RB33F3A RB33F3A    Bottom plate TZ flange 3PW/D3 2CPX047232R9999 

RB43F3A RB43F3A    Bottom plate TZ flange 4PW/D3 2CPX047233R9999 

RB53F3A RB53F3A    Bottom plate TZ flange 5PW/D3 2CPX047234R9999 

RD13F3 RD13F3     Top plate TZ flange 1PW/D3 2CPX047235R9999 

RD23F3 RD23F3     Top plate TZ flange 2PW/D3 2CPX047236R9999 

RD33F3 RD33F3     Top plate TZ flange 3PW/D3 2CPX047237R9999 

RD43F3 RD43F3     Top plate TZ flange 4PW/D3 2CPX047238R9999 

RD53F3 RD53F3     Top plate TZ flange 5PW/D3 2CPX047239R9999 

RB13F3 RB13F3     Bottom plate TZ flange 1PW/D3 2CPX047240R9999 

RB23F3 RB23F3     Bottom plate TZ flange 2PW/D3 2CPX047241R9999 

RB33F3 RB33F3     Bottom plate TZ flange 3PW/D3 2CPX047242R9999 

RB43F3 RB43F3     Bottom plate TZ flange 4PW/D3 2CPX047243R9999 

RB53F3 RB53F3     Bottom plate TZ flange 5PW/D3 2CPX047244R9999 

RB13GA RB13GA     Base plate closed 1PW/D3 2CPX047245R9999 

RB23GA RB23GA     Base plate closed 1PW/D3 2CPX047246R9999 

RB33GA RB33GA     Base plate closed 3PW/D3 2CPX047247R9999 

RB43GA RB43GA     Base plate closed 4PW/D3 2CPX047248R9999 

RB53GA RB53GA     Base plate closed 5PW/D3 2CPX047249R9999 

RZ513 RZ513      TriLine IP54 Kit 1PW/D3 2CPX047256R9999 

RZ523 RZ523      TriLine IP54 Kit 2FB/T3 2CPX047257R9999 

RZ533 RZ533      TriLine IP54 Kit 3FB/T3 2CPX047258R9999 

RZ543 RZ543      TriLine IP54 Kit 4FB/T3 2CPX047259R9999 

RZ553 RZ553      TriLine IP54 Kit 5FB/T3 2CPX047260R9999 

RZ502 RZ502      Connecting set IP54 D325mm 2CPX047261R9999 

RZ503 RZ503      Connecting set partition T3 2CPX047262R9999 

ZW57 ZW57       Sine Sponge Rubber Fla. 4/ 2CPX060122R9999 

ZW58 ZW58       Sine Sponge Rubber Fla. 5/ 2CPX060123R9999 

XZ301P8 XZ301P8      Profile no.1 25x14 x6000mm 2CPX060601R9999 

XZ302P6 XZ302P6      Profile no.2 25x20 x6000mm 2CPX060602R9999 

XZ303P4 XZ303P4      Profile no3 32x25 x6000mm 2CPX060603R9999 

XZ310P3 XZ310P3     Profile no.10 35x19 x6000mm 2CPX060610R9999 

ZX209 ZX209      Hex. Screw M12x120mm V2A 2CPX060629R9999 

ZX210 ZX210      Hex. Screw M12x130mm V2A 2CPX060630R9999 

ZX211 ZX211      Hex. screw M12x150mm V2A 2CPX060631R9999 

ZX212 ZX212      Hex. screw M12x170mm V2A 2CPX060632R9999 

ZX213 ZX213      Hex. screw M12x190mm V2A 2CPX060633R9999 

ZX214 ZX214      Hex. screw M12x230mm V2A 2CPX060634R9999 

ZX217P10 ZX217P10   Strain Washer 8mm 2CPX060635R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 18 - 

 

 
Type Short description Material-No.  
ZX218P10 ZX218P10   Strain Washer 10mm 2CPX060636R9999 

ZX219P10 ZX219P10   Strain Washer 12mm 2CPX060637R9999 

ZH150 ZH150      Bar Guide -Cabinet 2CPX060650R9999 

ZX181P10 ZX181P10   Hexag. Head Screw M12x100 2CPX062111R9999 

ZX182P10 ZX182P10   Hexag. Head Screw M12x110 2CPX062112R9999 

ZX183P10 ZX183P10   Hexag. Head Screw M12x120 2CPX062113R9999 

ZX184P10 ZX184P10   Hexag. Head Screw M12x130 2CPX062114R9999 

ZX186P10 ZX186P10   Hexag. Head Screw M12x150 2CPX062115R9999 

ZX188P10 ZX188P10   Hexag. Head Screw M12x170 2CPX062116R9999 

ZX210P10 ZX210P10   Hex. Screw M12x130mm V2A 2CPX062126R9999 

ZX211P10 ZX211P10   Hex. screw M12x150mm V2A 2CPX062127R9999 

ZX212P10 ZX212P10   Hex. screw M12x170mm V2A 2CPX062128R9999 

ZX213P10 ZX213P10   Hex. screw M12x190mm V2A 2CPX062129R9999 

ZX214P10 ZX214P10   Hex. screw M12x230mm V2A 2CPX062130R9999 

ZP55P10 ZP55P10    Slot Flange (1Set=10Pcs) 2CPX062450R9999 

ZP56P10 ZP56P10    Flange 1xM63/M50 (1Set=10pcs) 2CPX062451R9999 

ZP58P10 ZP58P10    Membran Flange (1Set=10pcs) 2CPX062453R9999 

ZW51P10 ZW51P10    Slot Flange(1Set=10Pcs.) 2CPX062466R9999 

ZW52P10 ZW52P10    Nipple Flange PG (1Set=10P 2CPX062467R9999 

ZW53P10 ZW53P10    Flange PG21/16 (1Set=10Pcs 2CPX062468R9999 

ZW54P10 ZW54P10    Sponge Rubber Flange (10Pc 2CPX062469R9999 

ZX221P2 ZX221P2    Mounting Bracket light 2CPX062492R9999 

ZX222P2 ZX222P2    Mounting Bracket heavy 2CPX062493R9999 

ZX252P10 ZX252P10   Insertion Nut M6 (Set=10pcs) 2CPX062512R9999 

ZX254P10 ZX254P10   Insertion Nut M8 (Set=10pcs) 2CPX062513R9999 

ZX255P10 ZX255P10   Insertion Nut M10(Set=10pcs) 2CPX062514R9999 

ZX284P10 ZX284P10   Washer 8mm DIN125 2CPX062532R9999 

ZX285P10 ZX285P10   Washer 10mm DIN125 2CPX062533R9999 

ZX286P10 ZX286P10   Washer 12mm DIN125 2CPX062534R9999 

ZX294P10 ZX294P10   Hexagone Nut M8 2CPX062538R9999 

ZX295P10 ZX295P10   Hexagone Nut M10 2CPX062539R9999 

ZX296P10 ZX296P10   Hexagone Nut M12 2CPX062540R9999 

ZX377P10 ZX377P10   Press-In Nut M8 2CPX062546R9999 

ZX221P40 ZX221P40   Mounting Bracket (ME=40 pcs) 2CPX062557R9999 

ZX222P40 ZX222P40   Mounting Bracket  (ME=40 pcs) 2CPX062558R9999 

ZX397P10 ZX397P10   Press-In Nut M10 2CPX062586R9999 

ZX398P10 ZX398P10   Press-In Nut M12 2CPX062587R9999 

ZX216P10 ZX216P10   Strain washer 6mm gal. 2CPX062590R9999 

 
  



 

Document No.: DOC_CER_CE_2PC!00023X0201_#V3 

ABB 
 

- 19 - 

 

 
Type Short description Material-No.  
ZX292P20 ZX292P20   Hex. Nut M6 gal. self lock. 2CPX062593R9999 

ZX721P10 ZX721P10   Hex. Screw M8x25mm gal. 2CPX062595R9999 

ZX293P10 ZX293P10   Hex. Nut M6 gal. 2CPX062605R9999 

ZX743P10 ZX743P10   Hexag. Screw M10x35mm vz 2CPX062606R9999 

ZX744P10 ZX744P10   Hexag. Screw M10x40mm vz 2CPX062607R9999 

ZX763P10 ZX763P10   Hex. Screw M12x35mm gal. 2CPX062608R9999 

ZX772P10 ZX772P10   Hex. Screw M12x80mm gal. 2CPX062609R9999 

ZX746P10 ZX746P10   Hexag. Screw M10x50mm vz 2CPX062613R9999 

ZX768P10 ZX768P10   Hex. Screw M12x60mm gal. 2CPX062614R9999 

ZX748P10 ZX748P10   Hexag. Screw M10x60mm vz 2CPX062616R9999 

ZX750P10 ZX750P10   Hexag. Screw M10x70mm vz 2CPX062617R9999 

ZX762P10 ZX762P10   Hex. Screw M12x30mm gal. 2CPX062618R9999 

ZX764P10 ZX764P10   Hex. Screw M12x40mm gal. 2CPX062619R9999 

ZX766P10 ZX766P10   Hex. Screw M12x50mm gal. 2CPX062620R9999 

ZX770P10 ZX770P10   Hex. Screw M12x70mm gal. 2CPX062621R9999 

ZX767P10 ZX767P10   Hex. Screw M12x55mm gal. 2CPX062623R9999 

ZX769P10 ZX769P10   Hex. Screw M12x65mm gal. 2CPX062624R9999 

ZX742P10 ZX742P10   Hexag. Screw M10x30mm vz 2CPX062634R9999 

ZX216P1000 ZX216P1000 Accessories 2CPX062656R9999 

ZX217P500 ZX217P500  Accessories 2CPX062657R9999 

ZX218P500 ZX218P500  Strain Washer 10mm 2CPX062658R9999 

ZX219P250 ZX219P250  Strain Washer 12mm 2CPX062659R9999 

ZX725P10 ZX725P10   Hex. Screw M8x45mm gal. 2CPX066357R9999 

ZX714P10 ZX714P10   Countersunk Screw M10x60mm 2CPX068681R9999 

 
 
End of Annex I 


